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1. Urcete, kolik % z obrazku je vybarveno:

b) ©) d)
€) f) 2 h)

2.Vypocitejte 1% z:

a) 500 = e) 0,5=
b) 1900 = f) 83=
) 6359 = ) 27000 =
d) 73 = h) 462,78 =
3. Vypocitejte pomoci pfechodu pres 1 %:
a) 7%z1200= e) 45%z80=
b) 20 % z 5900 = f) 8%z13=
¢) 57 %z 11 000 = g) 14 % ze 60 000 =
d) 32 % ze 410 = h) 71 % ze 320 =
4. Uréete poéet procent:
a) 80 cm z200 cm = e) 4480 dmz 0,8 km =
b) 15 kg ze 60 kg f) 2304 K& z2 560 K&
¢) 39 K& ze 130 K& = 2) 0,12 kmz5 000 m =

d) 50gz400g= h) 270 sekund z 20 minut =




